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hhimptpuyht Juply

YJwplwnnt

22 wnwphu pugwd ££ pwnwpwgh b nbghnbun $hghlulywt
wud
Ywplwnnth vnwphpp sh Yuwpnn gbpuquiugt) 60 nwnpblwup*

Lwdwywnplwnnt

22 wnwphu [pugwd << pwnuwpuwgh b nbghnbun $hghlulywt
wud, npp hwunhuwunw £ Juwplywnnth punwupph wunwd b
nph wnwiphpp sh Ywipnn glipwquitgti 60 wwpbljwup*

Bpwifuwynp

22 wnwphu [pugwd << pwnuwpuwgh b nbghnbun $hghlulywt
wud, npph wmwphpp sh Yupnn gbipwquugb) 60 tnnwpbywup*

dwpyh bywnwly

Puwlwpwuh abnppbpnid

Updnyp

< npwd
UUL nnjwp

Ywpyh ujwqugnyt gnidwn

15.000.000 << npwid,
30.000 UU'L nnpwin,

Ywpyh wnwybjugnyu gnwwp

75.000.000 << npuwd,
300.000 UU'L nnjwp,

Spwdh wnwpluw

1. Qtinppbpynn gnyph qudwu hpwyniupp® (unnigwwwnnnh
Yynndhg wmpwdwnpywsd ntintlwuph hwdwdwju dtinppbipdwu
qund)

2. Abtnpptipynn gnypp quwhwundwd snijuywlwu wpdtipny
(Yunnigwwwwndwu wywnpunhg hbwnn)

3. Lpwgnighs Uuowipd gnyp' quwhwundwd onidjuywlwt

wpdtipny Yud npudwlwu dhgngubip**:

Ywnl/Spwy wnwybjwugnyu
hwpwpbpwlygnie)nwu

1. £ npwdh nbwpnid dhusle 90%
2. UU'L nnjuph nbwpnud 70% (jnpwlwuntu tinynu)

2. Lpwgnighy wiugwnd gnyph WYHwd npwdwlwt dhongubinp
gpwywnpdwt nbiypnd’ 100%, puyg ns wyb pwu gpwdp
wnwpluwh guwhwwnywd wpdbpubiph hwupwgnwwph 90%
(huuunwu nnnynu) ££ npwdh b 70% UU'L nnjwph nbwpnud:

Jduwpyh wpwdwnpdwu Gnuuwy

Uphwuywg (wulwufupy):

Jwpyph dwdybin

1. < npwdp nbwpnid 120-180 widhu,

2. UUL nnuph nbwpnd 120- 240 wdhu:
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Swpblwu wudwuwlwu < npwdh nbwpnd - hwunwnnt® dhusk 60 wdhu — 12,5%,
n nn nawp $

wnlnuwnpnyp* (Y4hpwnynw k hulj 61-pn wduhg uuwd hwunwwn wnynuwnpnypp
Jupyh duwgnpnh uywindwdp) Gogpunynd £ Unbuinpwyhtu pwulybiph Ynndhg 1 wnwph

dwdytinnny (pwgwnniejwdp gywhwugh) << npwdny

ubipgpwyywd wywunubiph® << 4P Ynndhg (Unpynipp’
www.cba.am) hpwwwpwlynn wduwlwu nnynuwnpnypubiph

hpwwwpwyjwsd Ybipghu 3 wdhutbph  (hwuwnwwnniu

wnnYnuwnpnyph Gogpundwt opdwt bwfunpnnn) dhoht
pywpwuwlwuny hwoqwplyywsd nnhnuwnpnyp gnidwpwd 4%

(wyunthbin' <hduwlwiu gniguiihg): <hduwlwt gniguithoh
wuhwuwubih nwnuwnt nGwpnu npwtiu BpYpnpnwhu
gnigwuh? E punniuynud <& whnwwt wpdbyunpnuwpt 1
wnwnbywu ywpunwwnndubph dhtugle dwpnud

Blwdwnwpbpniyejwu Ynph tinynuwnpnyp (Unpjngnp'
www.cha.am) gnudwpwd 4% (wjunthbn' GpYypnpnuwght

gnigwihp):
UUU nnjwph nbwpnud - hwunwnns' dhusl 60 wdhu - 8,5%,

huly 61-pn wduhg ujuwd hwunwwnniu tnynuwnpnypp
togpnynud £ 6ogpundwiu hhdpnud npuytiu hhduwlwu gnigwiuhs
nutiiny Unbuinpwjpu pwulbiph Ynndhg UUL nnupny
ubpgpwyywd wjwunubiph 1 wmwph dwdytivnny
(pwgwnnipjwdp gujwhuwitigh)” £ 4P Ynndhg (Unpynipp’
www.cba.am) hpwwwpwlynn wduwlwu nnynuwnpnypubiph
hpwwwpwydwsd ybpohu 3 wdhuttiph (hwuwnwwniu
wnnynuwnpnyph Gogpundwt opdwt bwfunprnn) dhoht
pywpwuwlwuny hwoqwpyywsd nnhnuwnpnyp gnidwpwd 6%
(wyunthbn' <hduwlwu gnigwithg): <hduwlwu gnigwiuhoh
wuhwuwubiih nwnuwnt nGwpnud, npwbu GpYpnpnwht
gnigwup? £ punniuynwd 10 tnwpblwu UU'L quudwwbitnwlwt
wwnwwwnndubph hpwwwpwyynn wduwlwu gnigwupubiph
(Unpjnipp’ www. treasury.gov) hpwwwpwl wd Jbipohtu 3
wdhuubiph (hwuwnwwnn tninynuwnpnyph G62gpundwt opdwt
Uwfunpnnn) dhoht pywpwuwywuny hwodwnlyywsd
nnynuwnpnyp gnidwpwd 7.5% (wjunthbin’ Gpypnpnwihtu

gnigwiuhy):
Swpbljwu thwuwmnwgh 13.52%-13.97% £< npwd
tnnynuwnpnyp 9.04%-9.49% UUL nnjwn
Ydwpyh b wnynuwgnwwpubiph Udbuwdujw’ Uunthnbin Yud hwjwuwpuwswih wdnpunhqugh
dwpnidubip
dwdlbunwiug Opwlwu 0.13%

wwnwwynpnigjniutbiph (duyp
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qmudwn U yud ppnlnuwqniduin)

gony wnyd
Jwplwnnth, hwdwdwpywnnth b | Gnpdnn wywpuwynpnieyniuubph gény Jwplwjhu nhuyp nwup
Gpw2fuwdnph JupYuwypht wbwp £ |hup unwunwpw: Ywplwiht hwjnmh ubpluywgdwup
wwiwndniejwup dhwdwdwuwl Uwfunpnnn 24 wdhutbph pupwgpnd dwdlbunwig
ubplwjwgynn wwhwueubn wwpunwynpnigjniuubiph (pwgwnniejwdp

Bpwofuwdnpniniuutipnh) qdny optiph hwupwgnwWwpp ng
wy b, pwu 30 on:

Ywpynwwyniejwu Ybpnidniypntu

Lwdwdwju “Lhthnpbipwiht Juwplbph npwdwnpdwu
pUpwWgwlwng”-h

Lwjinh nunwuwuphpnyejuwu yéwp

10,000 (nnwup hwqun) ££ npwd

Ywnyh vywuwnplydwu Jéwp
(dhwiiwg)

Ywpyh gnwdwph 1%-h swihny, pwjg ng wybip pwt 250.000 ££
npwd:

Jwnwdwdybn dwpdwu wnnyd

2h Yhpwnynud:

*JwnpYwnnih, hwdwdwpluwnnth mwphpp Jupyh dwpdwt yepotwdwdybnnd swbwnp £ gbpwquugh 70 mwpbywup:

** TGpwdwlwu dhongubip -UNUNUSPULY PRPC-nud ubpnpwsd dwdlbunwht wdwun, wywpuwwnndubp (bwb <& whunwluiu
wuwpnuwwndubp), pupwghy b wy hwohdubpht wnw npwdwlwu dhongubin), npnup Jhwunhuwuwtu gpwyh wnwplw W
Ynbwnuwgdbu wjupwt dwdwuwly dhtusk np Jupl/gpuywnpyuwsd gnyph hwpwpbpwygnieniup Yywgdh 70 winynu, huly wwunubph
Jwdwnwd dwpnud wwhwugbnt nbwpnd dwupnudhg wnwowgwd npudwlwu dhongubiph hwdwwwunwufuwu swihp Yninnyh Jupyh
Junuwdwd dupdwtt wjuwbu, np Juplb/gpwy hwpwpbpwlgniegniup Yywagdh 70 innynu:

** Juplh nmwpblwu mnynuwnpnyph Gogpuinudp Yuwmwpynid b 61-pn wdujw wnweoht wotuwmnwupwiht opp, hul hbwnwgu
Soanpuninidubipp Ywwnwpynid Bu jnipwpwugnip tnwpyw wuyphp W hnyubdpbp wdhuubph hhugbpnpn wotuwnwupwihtu opGphu: Cun
npnud’ 61-pn wduyw wnwoht woluwwnwupwihtu opp Ywwnwnydnn nwpblwu ninynuwnpnyph 6ogpndwu hwdwp hhdp § punniugnud
61-nn wdujw wnwoht woluwwnmwupwiht opdwt Uwfunpnnn wwnhy fuwd hnlubdpbp wdhutubph (npu wnwehup Yuwtunpnh) 5n
woluwwnwupwiht opdw npnipjwdp hwoywplydwd <hduwlwu gnigwuhop Ywd Gpypnpnwihtu gnigwuhop (puin Yhpwnbihniegw):
Jdwplh mwpblwu nmnynuwnpnyph dogpundwt wpryniupnd Ywplyh mwpbluwu mnynuwnpnypp Yunpnn b Yugdb)ns wdb), pwu dwpyh
wnwoht mwpyw tnwpblwu innynup npnypwswihhg 8 (nie) innynuwht Yhwnng b ng yywwu, pwu Ywpyh wnwoht tmwpyw tnwnblwu
wnnlynuwnpniyphg 8 (nte) tinynuwihtu YEwnny:



